





Part List (Box 1-WF310629)

Al A2 A3

Woodleg-1pc Woodleg-1pc Woodbar-1pc
Ad AS / A6

Panel-1pc Woodbar-2pcs 7 Woodbar-1pc

A7 I Bl j B2

Woodlg-2pcs Panel-1pc Woodbar-1pc
B3 B4 B6

\I \
!

Woodbar-1pc Panel-2pcs Panel-2pcs
) \ ) \ )

Woodbar-2pcs Woodbar-3pcs Woodleg-1pc

C3

C2

Woodleg-1pc

Woodbar-1pc

3/19




Part List (Box 1-WF310629)

C4 C5 C6

Panel-2pcs Woodbar-1pc Woodbar-1pc
Cs C9 /

Slat-8pcs Slat-2pcs
) / N

Panel-2pcs Woodleg-2pcs Panel-2pcs

4/19




Part List & Hardware List (Box 2-WF310630)

BS B7

\

C7 \
Panel-1pc Panel-1pc

Side panel-2pcs

D1 AS D2 D5 ::

Panel-2pcs Panel-2pcs Panel-4pcs

D6 \ D7 D8 /
Side panel-1pc

Side panel-1pc Slat-2pcs

/

Dg / - % O
Slat-5pcs Panel-2pcs Panel-4pcs
) \ E4 % ) /
Panel-2pcs Panel-2pcs Woodbar-4pcs
EG

9

N

Woodbar-5pcs

5/19




Hardware List (Box 2-WF310630)

1 2 ‘ 3
) @%
2y
@1/4" x 100 mm @1/4" x 12 mm @1/4" x 70 mm
Hex-Head bolts 16pcs Horizontal-Hole bolts 64pcs Hex-Head bolts 8pcs
4 9 ) 6 D
) Ty
0y 0y
@1/4" x 80 mm Screws 1/4" x40
Hex-Head bolts 12pcs Allen Key 1pc 10pcs
I 8 9
o
\ '\“@\“ﬁf‘\‘
“ @)'))»)»))))))))))))))))))))))
M4 x 30 mm @10 x 40 mm @1/4" x 50 mm
Wood Screws 64pcs Wood dowel 14pcs Hex-Head bolts 4pcs
10 1] 12
@).))))))))) vﬁ‘\'\\w
@1/4" x 60 mm M4 x 15 mm
Hex-Head bolts 24pcs Wood Screws 30pcs
13 14 n 15
J S
M3 X 12 mm 2%16x26 Metal L pat M3.5x 12 mm
Wood Screws 2pcs 10pcs Wood Screws 48pcs
16 17 18
o Eod
Q
&y
M3 x 15 mm
Wheels 12pcs Wood Screws 28pcs Wheels 8pcs
19 20 21
g, W
@1/4" x 30 mm 2x25x60x60 Metal L patt M3.5 x 10 mm
Hex-Head bolts 2pcs 3pcs Wood Screws 12pcs

(=

Assembly Tools Required (Not Included)

6/19




%ﬂﬂ%

6pcs

%

6pcs

7119




. tion.
ing below illustra
STEPS3: Following
T F)

@)0)‘)))')0')0: ) M

A
N

L~

4

@).»»»»»)»)»»»»»»»»»»)

4pcs




STE P5 Following below illustration.

13

5
£
>

3

OSH

%)

)}’)””ﬂ%
Ly

4pcs

9

4pcs

9/19




9 D
€y
2 2
E
tion.
tra
illus
low
be
ing
llow
P7: e

4pcs
S
4pc

14

gy,

/%

4pcs

%

4pcs




%

8pcs

4

@).»»»»»)»)»»»

D))

8pcs




24pcs

10

U

)))))))))))))))))JJ))))))))))))JJ)

24pcs

)2‘@\,\'

L

STE P 12 X2 Following

7

141“i




ST E P 13 X2 Following below illustration. ,\//

~




11
12pcs
20
<&
3pcs
S
N\
,/\\\

ST E P 15 . Following below illustration
ST E P 1 6 . Following below illustration




-

‘.JJJUJQIJJQ;,

ST E P 17 X2 Following below illustration.

8pcs

-
’
!
‘
|
\
\
\
\

""J'wa:)w.,




16/19

@));»)»))))))))))»)
2pcs

19

ST E P 2 1 X2 Following below illustration.

c
i)
<
g
=
i)
©
Ko}
2
=2
o
©
g
o
N
a .
w
—
n




STEPZZ OPTION 1 Following below illustration

OPTION 1:







STEP22 OPTION 2 FoIIowing/t_)eIowiIIustration
S @

OPTION 2




	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)
	AI WF310629 - WF310630 PLATFORM BED HEADBOARD BOOKCASE, TRUNDLE AND 2 DRAWER Model (1)

